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I Semester B.Com. Examination, MarcffApril W&'

{semester Scheme} {CBCS} (2014-15 *nd Onw*rds} {Fercters}
COMMERCE

1.3 : Financial A,ccounting - I

Time : 3 Hours Max. Marks : 70

n

I tnstructian : Answer shauld be written completely either
I

in English or in Kannada.

SECTION - A
$tpazt - o

1. Answer any five sub-questions. Each sub-question carries two marks. (5x2=10)

Cndoaddo 5 enod-{,d*rlerl en:doRr. {,e wd-{,d4rl2 erodil9J.

a) What do you mean by accounting standards ?

dd-otd {,d>eod aodded: ?

b) What is single entrY sYstem ?
ad ddlod: dd9 acdded: ?

c) Mention the method of purchase consideration.
$oeO eiso$$ dodbaCr:d dqgdqJdt) g9xl.

d) What is recoupment of short working ?
6.cddcild dad: gud6 .lodded: z

'l e) Give any two reasons for conversion of a firm into a limited company.
i 2.c6) FoeJrDOii ioxc1:d) &onilrg dc60clrrR dodgr{:d cIrJQ)m6oJo oddJ

) 
(^)!/U ,/ i]!g\rl lc/vu ru 

O o(

rodearl$du, 993).
q

0 State two features of hire purchase system.
zm6rl do$;ad tmdd ,rdd: sdmd$$ 893r.

+ ' q ) t o '

g) What is Realisation account ?

adeaao'and ccdded: ?

P.T.O.
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SECTION 
- B

Atprt - s

illffilllll$frtnffifillffi

px6=tr8)

I

Answer any three questions: E* question "'"::t-"= 
six marks'

clrrdoaddri 3 4'd.:;&;-' 
€esqsis ecds:'

2. What are the. functions 91'"::o"unting 
?

' 
e*'Fen reoa:iaedddal tdotu'

3. From the following information caiculate totd sales'

OPening debtors

Closing debtors

iu.n ieceived fiom debtors

Discount albwed 10,000

glr;;;"j,Hffibtors 1,200

dr ddnd dDbene; t'uo"'Cnao$ dcqd$4dcdrbaosro'

a,ldcr$d ilb$ildJ n':::
25,600eroEC) abe6dq;

ube6rtaod a;cd dzla: 1,600

ioearruslAn%e" - ,r-^A 10,000

:H:'3#*:3i:* 
1'2oo

4.Prepareananalyticaltableofroyalt iesftomthefollowingdetails:

a) Minimum rent t 20'000 P'a'-

1 HnTffi::T,::ffi;1*ing 
the rirst 3 vears or the rease onrv

d) The output tor the first 4 years was :

' 2018 : 2'000 tons

2019 : 5'000 tons

2O2O: 15'000 tons

2021 :20'000 tons

56,000
40,000
25,600

1,600
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dr d*dcd eddrlecd otsdd aqedrao dsptd:. ddraos: :

a) dc{zEari ffirdot 20,000

b) orsffiT 2 4g €.i&rt

c) dodd enceoCScJ:d:o ries dciC dode; 3 ddrrt$O-dJDg' boddC::dd:

d) Code owrddrits eruodo

2018 . 2,000 gsd:oriS;

2019 : 5,000 !Jd)4rlEj;

2O2A: 15,000 t3d)on€J

2021 : 20,000 03d:od9J

5. Mr. Kumar purchase a motor car on hire purchase system. Calculate cash price

of the motor car from the following :

Down payment T 10,000,1styearly installment T 14,000, znd yearly installment

{ 18,000, 3rd yearly installment t 16,500, rate of interest 10% p.a.

tdrrdddd: Cneocd: aadd: znBrl do*Jado$ dqeoJ;O-$o€A:rd*. *' d$nd

iddrlgcd s raod drld: ?,ldc3rdt dcd:bBcc:o.

C::crld deaT 10,000 ; dodc: aa&rddcd:{ 14,000; oddde am'hrddod:t 18,000;

lrodde atarrd dcd: t 16,500 uqdd ae&rd se. 10'

6 From the following details calculate purchase consideration from the following :

The purchasing co. has agreed to issue 30,000 equity shares of t 10 each at a

par, 1000, B% preference share of t 100 each at a par, 1 000, 6% debentures

of t 100 each at a discount of 10% and pay cash equal to { 25'000'

e iqh-- ;ddi1$cc aioea dsc$q. dcd;bac}Jo.

553$:,d dcd&Cr: t 10 d::$dscJ: 30,000 xaCnd, ded:rf#di &eA6' 1,000,

gt. 8u Ed$ dsod ded.:rl$d;o d;calajdoJ: t 100dO- &eadc. 1,000 de ' 6d

t tog SJstelsC) xae-:d$rlerQ d*. 10d oCrlce:g ddde)-&e6d: Crdl dild)

t 25,000.
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SECTION 
- C

aqrort - b

\nlllllllllll[l[lil$[lffim

(3x14=42)

Answe r "nv rel#T[!,".:*t^ *::ggt"^ lT J:S'
+, tqo6 CJ-.d)GddtJ 5 9od ''' ' 

- -,"^,^^,, *"les from the tollowtn9 :

7. Ascertain credit Ou"nu'*s 
and credit sales from 

14'0OO

sundry debtors 1-1-20 1o'ooo

Sundry debtors 31-12-20 8'ooo

SunOry creditor 1-1-20 9'5oo

Sundry creditors 31-12-20 6'400

cash received from debtott 
, 

4oo

Bills receivables dishonoured 2'0OO

Cash Paid to creditors 40O

Discount allowed

Discount received

200

2,500

B/R received from debtors 5'Boo

,r, ur""Pted from creditor 300

Bad debts , ^-drlQcd xae;dno"$ d)$ posloeooJ:d':odcd':haoDo'

*Ji a"u"Cd addrlec- FEvc^,evvw - " 14,000

ub$it%b 1-1-20 10'000

D$Srlqt 31-12'20

deil€': 1-1-20

dPrt*; 
g1-12-2o

ubedrtgod uod dr{dl

gdidoiets'6:caitd:

APif+ri dool*ddC'l

ioea *s;r>

fr.oe& diid':doca*1

ul>e6rt9od t'rdddo d: oadqJ

deifarl dodddo d; oailqr

icdCndd xee:

8,000

9,500

6,400
400

2,000
400

200

2,500

5,800

300
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8. Manu purehase a plant costing T 1,60,000 on 1-4-16 frem Mchan Ltd, ur&r

Hire purchase system. The terms being T 40,000 down Fynerrt and halance in

three equal annual installments together with interest a/.ZA"/" p.a. oft ottt standlng

cash price. Depreciation it to be charged at 1Salo p.?. under Stralght-tlre nethod.

Prepare the necessary ledger account in the books of Manu urder assets

accrual method.

d:d.: aou;dd; t cd; c3:c$a'dlo do.eCo* Sa:g$cfddocd 1-4-16dod;

{ 1,60,00011 enari dqeo$CI-$oeo:raad td_cdd ddd;rf$.: dq;Eodo.9d.

dlodd dea md3&d:.{ 40,000, trusid deeddto 3 dd: m*:*rd dc*ri$CI-EmctuFd

de. 20 uE dubed mdE dDd)d)d). oJ:o$dd,' d:ne eJeJo$ d)eej amard 5r. 15d

dddEidde drlc})dd) (s.L.M.).

dr$ddd dt{dd{erldroad dcddodaan qrtuo$di Cocdcd dqgo$O-ddo udouo.

9. Satish Kumar leased on oil well from ABC Ltd. on 1-1-17 the minimum rent was

T 2,00,000 and royalty was { 20 per ton of crude oil raised.

The short working were recoverable in the succeeding two years of such short

working. The output during the first 4 years were 5500, 8000, 11250, 12500 tons.

Prepare minimum rent a/c Royalty a/c, short working alc, ABC oil Ltd. acc'ount

in the books of Satish Kumar.

1-1-17 dod: S8eefd:drocf acu:dd; azur Otut:d erdood z"od: "r{maoJ:d2

ftqnidam.d. dcl{?Dailt 2,00,000i.l$t. o-ozsfd drodgrlddto$od 4,-A $qrtT 20

uc. oorsfrd doddod:d:*d"dg w{axd add: ddrrl$ udrl Cr:ocbdrDslrvd\$.

$d ddFrld wo;Cdcb $ d:mn 5500, 8000, 1 1 25A, 1 2500 t^ld:odm nd.

ddd d{dde)-dCIq?DAri arod, oaxdd std, dodd erod€ arod drd:

-5-

andrl$d; ddo$O.
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10. a)

ilililtil||fiffill|l|

b)

From the following information calculate cash price

Down payment - 1,500.

lst installment payable at the end of 1st year - 10,800

llnd installment payable at the end of 2nd year - 10,350

lllrd installment payable at the end of 3nd year - 9,900

lVth installment payable at the end of 4s year - 9,450

Rate of interest - 5o/" p.a.

& d$nd addilecd t:lCr dde derc$d] dod>&Eor:o.

Cr:crld dm - 1,500

lde dod: dode.tdcb ddrd ucdrdO_mdsizJeaflcbdd - 10,800

llde dcdr addOec$ ddrc ccs-de*-=3iuean6€d - 10,350

lllde dcd: drndoeoJ: ddrc ecd.dO_aC3xzieafvoaft - g,g00

lVde dod: oae$ecJ: ffird ecdrdO_adS5rearAa>€d - 9,450

arc&rd arQdd de. - Sdcd.

From the following information you are required to determine the amount of

total sales.

Openingstock-t80,000

Purchase - { 4,00,000

Closing stock-{ 70,000

Rate of gross profit on sale -'lu

do gd: d dnhE c3: c d z" e^l* dnoa r^ldd1 d c d: b E ot: o.

erdctpd ddd;rld; - { 80,000

aloeOilqj; * T 4,00,000

bogabdddrrls-t20,000

dnooe^id $eOd ila*e-:e.a$ Cd = 1/o
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having profit sharing ratio of 2:1 and their Balance

rts as tollows '

.l
1l
\l
I

B/P

Ram's loan

Ram's caPital

Prem's caPital

Reserve fund

t

40,000

10,000

20,000

30,000

20,000

6,000

1,26,000

Assets

Cash in hand

BIR

Debtors - 60,000

(-) Reserve -3'000

Stock

Machinery

t

3CS

5,Offi

57,00s

43,700

20,000

1,26,$00

I

\

'L

1 !
1

Theyagreedtosel | thebusinesstoaLimitedCo'andtheCo,totakeoverthe
assets and liabilities as follows :

Machineryat t16,000,stockatT35'000'debtorsat t50 '700'BlRat5 '000
and Goodwill at { 6,000. The company agreed to take one creditors at T 38'000

and BIP at t 10,000, the expenses of realisation amounted to t 300. The firm

received { 40,000 of the purchase price in t 10 full paid equity shares and the

balance in cash'

Distribute the shares as per originalcapital ratio. Prepare the necessary ledger

accounts in the books of the firm'

cndfd;d;dreCr*en$d4FSd:2:1d{'C>cadO-dct'3do*b-dau::mdd:d)d;
qdd E:xr-t3Em?,rJco dal.i31 '3-21d0-dt org q6'

rilor,rrootls) t elld€: t

d&rlsrc 
4o'o0o dd$ d,Jc$O- 300

dodzjeaad d;caild; 10'000 udzSemd d>ca 5'000

odtrddd me': 20'000 '$Jsdilsb - 60'000

oodtrddd ucdaad 30'000 &lrietrg dad - 3'000 57'000

{,edfddd t^lcdaad 20'000 6"qd: 43'700

-rrco.iprr x\A 6,000 c$cdgedddea 20'000
c^^J\ruw \v\', 

lrz6rooo 
'l'26'000
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>d do{oj:d1 t"odc &d]a}d dca"ad dnd€)J t'eJ.,rt ile&dcf:"addr u*'*i:-:ml 
,*"sepa.rffi:.dod&odlds erl d]dj uaromoorlgd:o dr f#odod drld- --- ?- cJ

od:odore#deaits; < 16,000, ddd)rt$ t 35,m, e$$rist T 50,700' udalerod

d:oGrl$.: t 5,000 drd; t'opd: T 6,000, do#eosdcb dpil$&o t 38'mo d+d

drldldo*;:: r,.1dd:. dodzjead d:oadsc { 10,000 d0 aHardos dt*T 3O0'

mu:emdd: T 40,000i1de-d"s$s doaadddi { 10 ?'Jeros dBgr iomod:md

xadnd, ded:r{SO*olro erugd doaadddl dild} dr}ddO-o$ra dddci:' ded:rlefd)

il.oeDcrodorl erdd d:oe uodamdd {,c)}eado-doa3o'

*te.p oa d o ii n o{od: d{ d d9- e tid, * d ae4 arodrl$q d CDo tu'


